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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot Sensor and FgRec Data
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Plot [['I", "lopt’], ['T, "Topt’], ['RH, 'RHopt'], [ ETcl’, 'optETcl’], 'LAI', ’optEtRate’]
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Plot [['setVlI ETcl’, 'setVI fgRec’,
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forP3-12_0
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P3-12
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P3-12_0, Day=59 (2025-05-31)
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P3-12

BYiE) | GEBRTIK () | ERE (EA/) | EREE B/ R) | XS ERE

06:45 283 150.0 2.888 FH| 1BRi%@06:45 B3h (KABERESE)
07:45 283 150.0 2.888 FE| 1BRi%@07:45 B (kHBERSE)
08:45 283 150.0 2. 888 FE| 1BRi%@08:45 Bz (kB{EREE)
10:15 283 150.0 2.888 FH| 1Ri%@10:15 Bzh (REBERSE)
11:20 283 150.0 2.888 FA| {Ri&e11:20 Bz (RAEEE)
12:10 283 150.0 2. 888 FE| 1Ri%e12:10 Bz (kBERSE)
13:00 283 150.0 2.888 FH| 1Bi&@13:00 B3h (RAERSE)
13:50 283 150.0 2.888 FH| 1Ri%@13:50 B3h (KAERRSE)
15:20 283 150.0 2.888 FH| 1BRi%@15:20 B3 (kAERSE)
17:15 283 150.0 2.888 FA| 1Bige17:15 Bzh (RAEREE)
21t 2830.0 (10)%) 1500. 0 333 KEC: 2080.0, PH: 5.7

MEREHLER 2 5 MEIELRT (184.0
ZRIALBRERE153.0 ml.

153.0), AIEEHT—@E XA HS

large discrepency for begining water status (297:72.0), set to 297 ml.
BE[ERECE (2220.0 vs 4760.0) 35
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P3-12_0, Day=58 (2025-05-30)
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Warning: lcol [FVI',| "FVO’'] missing
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Warning: lcol ["WC1',  "WC2'] missing
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Warning: lcol ['ECB’,| 'ECC’'] missing
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m=420, FV0=0 m=460, FV0=0 m=530, FV0=0

2851 o wE 29. 4 o— NE o NE
29. 4
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28.0 99, 7
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97 5 29.0
28.8 08, 8 4
27.0
28.6 1 28.6 -
T T T T T T T T T T T T T
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30.0 30. 2
30.0 30.0 1
29.8 30.0
29,6 29.8 29.8 99, g
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29.75 4 43 7 47 1
29.50 42 1 46 -
29. 25 - 41
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P3-12

FyiE) | EBIAT (FD) | EME (EA/4R) | BEREE(B/R) | XS ERE

07:25 283 150.0 2. 888 RS {Ri&e07:25 Bz (REERSE)
08:10 283 150.0 2.888 S| {Rige08:10 Bal (REAEEE)
09:20 283 150.0 2.888 |Z=| {Ri%e09:20 Bz (REAEHE)
10:10 283 150.0 2.888 |Z=| {Ri%e10:10 Bzl (KREAEHE)
11:00 283 150.0 2.888 |Z=| {Ri%e11:00 Bz (REEEHE)
11:55 283 150.0 2.888 |Z=| {Riget11:55 Bz (REAEHE)
12:40 283 150.0 2.888 |Z=| {Rige12:40 Bz (REAEHE)
13:20 283 150.0 2. 888 Bl Rige13:20 Bal (REAEESE)
14:00 283 150.0 2.888 BE| Rige14:00 Bal (REAEHSE)
14:45 283 150.0 2.888 BS| 1Ri%e14:45 Bz CGREAEESE)
15:35 283 150.0 2.888 S| Ri%e15:35 Bz (REERSR)
16:50 283 150.0 2.888 [Z=| 1Ri%e16:50 Bah (FEEESE)
23t 3396.0 (12%) 1800. 0 3ESHKEC: 2080.0, PH: 5.6

MERRNER S STEAERSE (184.0 : 153.0), AJEEHF—RZ XA45
ZRIA L PRIERE153. 0 ml.
H#ERECE (2323. 0 vs 4623.0) iH 5



FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-12_0, Day=57 (2025-05-29)
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Warning: lcol [FVI',| "FVO’'] missing

VI, VO, FRV, ET - VI, VO, FVI, FVO, FRV, ad JFRV, ET 2944 | 3000
- 2000

80 - 1000

Warning: lcol ["WC1',  "WC2'] missing

optEC0=2600. 0, setECB=2080.0

Warning: lcol ['ECB’,| 'ECC’'] missing

optPH0=6. 5, setPHB=5.6

Warning: lcol ['PHB’,| 'PHC’'] missing
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m=1040, FV0=0
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m=475, FV0=0
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46 -
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m=800,m FV0=0
—— MW
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46 -
45
44
800 805 810
m=935,m FV0=0
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45 -
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43 -
935 940 945




m=975, FV0=0
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